
 

 

 

467. 

 

Problem 35.25 (RHK) 

 

 For the closed circuit with radii a  and b , as shown 

in the figure, we have to calculate the magnetic dipole 

moment. 

 

Solution: 

For a planar loop carrying current i  the magnetic dipole 

moment is current times the area enclosed by the loop. 

The circuit given is as shown in the figure. The area 

enclosed by the loop is 
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Let k̂  be the unit vector coming out of the plane of the 

page. The magnetic dipole moment of the closed circuit 

shown in the figure will be 
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